Stateline Brewery, 4118 Lake Tahoe Blvd South Lake Tahoe, CA 96150, Pulled: 06/16/2025 09:52:45

Settings: Date Range: 06/01/2025 - 06/15/2025 Omit Salaried Omit No Hours Employee: All Employees Jobs: Default Job Code OC - General Manager OC - Server OC - Host OC - Cook OC - Kitchen Manager OC - Floor Manager OC - Utility OC - Dishwasher OC - Busser OC - Bartender OC - Cashier

Data for: 06/01/2025 04:00:00 to 06/22/2025 03:59:59

Albarraein, Santiago	72023 04.00.00 to 00/22/202		
Job Title OC - Busser	Pay Rate \$16.50	Hours 51.44	Total \$848.80
	Total	51.44	\$848.80
Sales: \$0.00 Tips: \$0.00	Claimed Tips Gratuity		\$0.00 \$0.00
πμα. 30.00	Grand Total		\$848.80
	Avg Payrate		\$16.50
Angell, Megan Job Title	Pay Rate	Hours	Total
OC - Server	\$16.50	31.50	\$519.73
Sales: \$7,972.93	Total Claimed Tips	31.50	\$519.73 \$750.00
Tips: \$493.78	Gratuity		\$732.43
	Grand Total		\$2,495.94
Potti locoph	Avg Payrate		\$79.24
Betti, Joseph Job Title	Pay Rate	Hours	Total
OC - Server	\$16.50	11.82	\$195.05
OC - Floor Manager	\$16.50 Total		\$611.01 \$806.07
Sales: \$9,434.73	Claimed Tips		\$1,091.00
Tips: \$1,421.02	Gratuity Grand Total		\$317.99 \$3,636.08
	Avg Payrate		\$74.43
Boatman, Christian			
Job Title	Pay Rate	Hours	Total
OC - Busser	\$16.50 Total	32.39 32.39	\$534.36 \$534.36
Sales: \$0.00	Claimed Tips		\$0.00
Tips: \$0.00	Gratuity Grand Total		\$0.00 \$534.36
	Avg Payrate		\$16.50
Bolli, Valentina	_		
Job Title OC - Host	Pay Rate \$16.50	Hours 19.08	Total \$314.86
	Total	19.08	\$314.86
Sales: \$0.00 Tips: \$0.00	Claimed Tips Gratuity		\$0.00 \$0.00
πρε. 30.00	Grand Total		\$314.86
	Avg Payrate		\$16.50
Carranza, Alvaro Job Title	Day Pata	Hours	Total
OC - Cook	Pay Rate \$19.00	37.88	\$719.80
C-1 ¢0.00	Total	37.88	\$719.80
Sales: \$0.00 Tips: \$0.00	Claimed Tips Gratuity		\$15.00 \$0.00
	Grand Total		\$734.80
Common Dovid	Avg Payrate		\$19.40
Compos, David	Pay Rate	Hours	Total
OC - Cook	\$17.00	4.98	\$84.60
Sales: \$0.00	Total Claimed Tips	4.98	\$84.60 \$0.00
Tips: \$0.00	Gratuity		\$0.00
	Grand Total Avg Payrate		\$84.60 \$17.00
Cosentino, Nick	Avgraviace		\$17.00
Job Title	Pay Rate	Hours	Total
OC - Server	\$16.50	28.77	\$474.67
Sales: \$5,815.86	Total Claimed Tips	28.77	\$474.67 \$330.00
Tips: \$489.07	Gratuity Grand Total		\$444.90
	Avg Payrate		\$1,738.64 \$60.44
Cox, Erin	<u> </u>		
Job Title	Pay Rate		Total
OC - Floor Manager	\$16.50 Total		\$564.71 \$564.71
Sales: \$5,898.18	Claimed Tips		\$658.00
Tips: \$850.14	Gratuity Grand Total		\$101.93 \$2,174.78
	Avg Payrate		\$63.54
Del Castillo, Maria			
Job Title	Pay Rate	Hours	Total
OC - Busser	\$16.50 Total	25.87 25.87	\$426.91 \$426.91
Sales: \$0.00	Claimed Tips		\$0.00
Tips: \$0.00	Gratuity Grand Total		\$0.00 \$426.91
	Avg Payrate		\$16.50
Diaz, Eugenio			
Job Title OC - Dishwasher	Pay Rate \$17.00	Hours 73.20	Total \$1,244.43
CC Distinguished	Total	73.20 73.20	\$1,244.43
Sales: \$0.00 Tips: \$0.00	Claimed Tips		\$30.00
11μs. 30.00	Gratuity Grand Total		\$0.00 \$1,274.43
	Avg Payrate		\$17.41
Escobar, Salvador			
Job Title	Pay Rate	Hours	Total

OC - Cook OC - Utility	\$22.39 \$22.39	21.86	\$489.53 \$181.23
, 	Total	\$22.39 8.09 Total 29.96	
Sales: \$0.00 Tips: \$0.00	Claimed Tips Gratuity		\$0.00 \$0.00
1103. 30.00	Grand Total		
Ferrante, Taylor	Avg Faylate		\$22.39
OC - Floor Manager	Pay Ra \$16.		Tota \$266.96
	Tot	al 16.18	\$266.96
Sales: \$1,567.94 Tips: \$201.02	Claimed Ti Gratui		\$12.00 \$24.78
		Grand Total Avg Payrate	
Floyd, Seyvion			\$31.20
OC - Server	Pay Rate \$16.50	Hours 37.30	Tota \$615.40
	Total	37.30	\$615.4
Sales: \$8,545.08 Tips: \$706.21	Claimed Tips Gratuity		\$142.00 \$499.38
	Grand Total Avg Payrate		\$1,962.99 \$52.63
Ford, Noelle	Avg i dyrate		732.0
ob Title	Pay Rate	Hours	Tota
OC - Host	\$16.50 Total	61.54 61.54	\$1,015.42 \$1,015.42
Sales: \$0.00 Tips: \$0.00	Claimed Tips Gratuity		\$0.00 \$0.00
1163. 30.00	Grand Total		\$1,015.42
Garcia, Andrew	Avg Payrate		\$16.50
lob Title	Pay Rate	Hours	Tota
OC - Host OC - Busser	\$16.50 \$16.50	34.43 3.33	\$568.17 \$54.90
Sales: \$0.00	Total	37.76	\$623.07
Tips: \$0.00	Claimed Tips Gratuity		\$2.00 \$0.00
	Grand Total Avg Payrate		\$625.07 \$16.55
Gretler, Kylie	Avg i aylate		Ţ10.53
ob Title OC - Server	Pay Rate	Hours	Tota \$294.85
OC - Server	\$16.50 Total	17.87 17.87	\$294.8
Sales: \$5,806.26 Tips: \$622.80	Claimed Tips Gratuity		\$730.00 \$575.17
	Grand Total		\$2,222.82
Guzman Fernandez, Lu	Avg Payrate		\$124.39
Job Title	Pay Rate	Hours	Tota
OC - Cook	\$18.00 Total	39.22 39.22	\$706.00 \$706.00
Sales: \$0.00 Tips: \$0.00	Claimed Tips Gratuity		\$0.00 \$0.00
1163. 30.00	Grand Total		\$706.00
Hansen, Sean	Avg Payrate		\$18.00
lob Title	Pay Ra		Tota
OC - Floor Manager	\$16 Tot		\$578.63 \$578.63
Sales: \$4,328.62	Claimed Ti	ps	\$279.00
Tips: \$560.89	Gratui Grand Tot		\$110.88 \$1,529.40
Hornondon Autou!-	Avg Payra	te	\$43.61
Hernandez, Antonio Job Title	Pay Rate	Hours	Tota
OC - Cook	\$23.00	47.17 47.17	\$1,084.90 \$1,084.90
			Y±,004.91
Sales: \$0.00	Total Claimed Tips	47.17	\$25.00
Sales: \$0.00 Tips: \$0.00	Total	47.17	\$25.00 \$0.00
Tips: \$0.00	Total Claimed Tips Gratuity	47.17	\$25.00 \$0.00 \$1,109.90
Tips: \$0.00 Hernandez, Christian	Total Claimed Tips Gratuity Grand Total Avg Payrate		\$25.00 \$0.00 \$1,109.90 \$23.53
Tips: \$0.00 Hernandez, Christian	Total Claimed Tips Gratuity Grand Total Avg Payrate Pay Rate \$18.50	Hours 38.35	\$25.00 \$0.00 \$1,109.90 \$23.53 Tota \$709.42
Tips: \$0.00 Hernandez, Christian lob Title	Total Claimed Tips Gratuity Grand Total Avg Payrate Pay Rate \$18.50 Total	Hours	\$25.00 \$0.00 \$1,109.90 \$23.53 Tota \$709.42 \$709.42
Tips: \$0.00 Hernandez, Christian Job Title OC - Cook	Total Claimed Tips Gratuity Grand Total Avg Payrate Pay Rate \$18.50 Total Claimed Tips Gratuity	Hours 38.35	\$25.00 \$0.00 \$1,109.90 \$23.53 Tota \$709.42 \$709.42 \$0.00
Tips: \$0.00 Hernandez, Christian lob Title OC - Cook Sales: \$0.00	Total Claimed Tips Gratuity Grand Total Avg Payrate Pay Rate \$18.50 Total Claimed Tips	Hours 38.35	\$25.00 \$0.00 \$1,109.90 \$23.53 Tota \$709.42 \$709.42 \$0.00 \$0.00
Tips: \$0.00 Hernandez, Christian lob Title OC - Cook Sales: \$0.00 Tips: \$0.00 Hernandez, Edwin	Total Claimed Tips Gratuity Grand Total Avg Payrate Pay Rate \$18.50 Total Claimed Tips Gratuity Grand Total Avg Payrate	Hours 38.35 38.35	\$25.00 \$0.00 \$1,109.90 \$23.53 Tota \$709.42 \$709.44 \$0.00 \$0.00 \$709.42 \$18.50
Tips: \$0.00 Hernandez, Christian lob Title OC - Cook Sales: \$0.00 Tips: \$0.00 Hernandez, Edwin lob Title	Total Claimed Tips Gratuity Grand Total Avg Payrate Pay Rate \$18.50 Total Claimed Tips Gratuity Grand Total Avg Payrate	Hours 38.35 38.35	\$25.00 \$0.00 \$1,109.90 \$23.53 Tota \$709.42 \$0.00 \$0.00 \$709.42 \$18.50
Tips: \$0.00 Hernandez, Christian Job Title OC - Cook Sales: \$0.00 Tips: \$0.00 Hernandez, Edwin Job Title OC - Cook	Total Claimed Tips Gratuity Grand Total Avg Payrate Pay Rate \$18.50 Total Claimed Tips Gratuity Grand Total Avg Payrate Pay Rate \$19.50 Total	Hours 38.35 38.35	\$25.00 \$0.00 \$1,109.90 \$23.53 Tota \$709.42 \$0.00 \$0.00 \$709.42 \$18.50 Tota \$579.12
Tips: \$0.00 Hernandez, Christian lob Title OC - Cook Sales: \$0.00 Tips: \$0.00 Hernandez, Edwin lob Title	Total Claimed Tips Gratuity Grand Total Avg Payrate Pay Rate \$18.50 Total Claimed Tips Gratuity Grand Total Avg Payrate Pay Rate \$19.50	Hours 38.35 38.35 Hours 29.70	\$25.00 \$0.00 \$1,109.90 \$23.53 Tota \$709.42 \$0.00 \$0.00 \$709.42 \$18.50 Tota \$579.12 \$579.12
Tips: \$0.00 Hernandez, Christian lob Title OC - Cook Sales: \$0.00 Tips: \$0.00 Hernandez, Edwin lob Title OC - Cook Sales: \$0.00	Total Claimed Tips Gratuity Grand Total Avg Payrate Pay Rate \$18.50 Total Claimed Tips Gratuity Grand Total Avg Payrate Pay Rate \$19.50 Total Claimed Tips Gratuity Grand Total Avg Payrate	Hours 38.35 38.35 Hours 29.70	\$25.00 \$0.00 \$1,109.90 \$23.53 Tota \$709.41 \$0.00 \$0.00 \$709.42 \$18.50 Tota \$579.12 \$0.00 \$0.00 \$579.12
Tips: \$0.00 Hernandez, Christian Job Title OC - Cook Sales: \$0.00 Tips: \$0.00 Hernandez, Edwin Job Title OC - Cook Sales: \$0.00 Tips: \$0.00	Total Claimed Tips Gratuity Grand Total Avg Payrate Pay Rate \$18.50 Total Claimed Tips Gratuity Grand Total Avg Payrate Pay Rate \$19.50 Total Claimed Tips Gratuity Grand Total Claimed Tips Gratuity Grand Total Avg Payrate	Hours 38.35 38.35 Hours 29.70	\$25.00 \$0.00 \$1,109.90 \$23.53 Tota \$709.41 \$0.00 \$0.00 \$709.42 \$18.50 Tota \$579.12 \$0.00 \$0.00 \$579.12
Tips: \$0.00 Hernandez, Christian lob Title OC - Cook Sales: \$0.00 Tips: \$0.00 Hernandez, Edwin lob Title OC - Cook Sales: \$0.00 Tips: \$0.00 Hernandez, Sales: \$0.00 Tips: \$0.00	Total Claimed Tips Gratuity Grand Total Avg Payrate Pay Rate \$18.50 Total Claimed Tips Gratuity Grand Total Avg Payrate Pay Rate \$19.50 Total Claimed Tips Gratuity Grand Total Avg Payrate	Hours 38.35 38.35 Hours 29.70 29.70	\$25.00 \$0.00 \$1,109.90 \$23.53 Tota \$709.42 \$0.00 \$0.00 \$709.42 \$18.50 Tota \$579.12 \$579.12 \$0.00 \$579.12
Tips: \$0.00 Hernandez, Christian Job Title OC - Cook Sales: \$0.00 Tips: \$0.00 Hernandez, Edwin Job Title OC - Cook Sales: \$0.00	Total Claimed Tips Gratuity Grand Total Avg Payrate Pay Rate \$18.50 Total Claimed Tips Gratuity Grand Total Avg Payrate Pay Rate \$19.50 Total Claimed Tips Gratuity Grand Total Avg Payrate Pay Rate \$19.50 Total Claimed Tips Gratuity Grand Total Avg Payrate Pay Rate \$23.00 \$34.50	Hours 38.35 38.35 Hours 29.70 29.70	\$25.00 \$0.00 \$1,109.90 \$23.53 Tota \$709.42 \$0.00 \$0.00 \$709.42 \$18.50 Tota \$579.12 \$579.12 \$579.12 \$19.50
Tips: \$0.00 Hernandez, Christian lob Title OC - Cook Sales: \$0.00 Tips: \$0.00 Hernandez, Edwin lob Title OC - Cook Sales: \$0.00 Tips: \$0.00 Hernandez, Saul lob Title OC - Cook OC - Cook	Total Claimed Tips Grand Total Avg Payrate Pay Rate \$18.50 Total Claimed Tips Gratuity Grand Total Avg Payrate Pay Rate \$19.50 Total Claimed Tips Gratuity Grand Total Avg Payrate Pay Rate \$19.50 Total Claimed Tips Gratuity Grand Total Avg Payrate Pay Rate \$23.00 \$34.50 Total	Hours 38.35 38.35 Hours 29.70 29.70	\$25.00 \$0.00 \$1,109.90 \$23.53 Tota \$709.42 \$0.00 \$0.00 \$709.42 \$18.50 Tota \$579.12 \$579.12 \$0.00 \$5.00 \$0.00 \$19.57 \$19.50
Tips: \$0.00 Hernandez, Christian Job Title OC - Cook Sales: \$0.00 Tips: \$0.00 Hernandez, Edwin Job Title OC - Cook Sales: \$0.00 Tips: \$0.00 Hernandez, Saul Job Title OC - Cook	Total Claimed Tips Gratuity Grand Total Avg Payrate Pay Rate \$18.50 Total Claimed Tips Gratuity Grand Total Avg Payrate Pay Rate \$19.50 Total Claimed Tips Gratuity Grand Total Avg Payrate Pay Rate \$19.50 Total Claimed Tips Gratuity Grand Total Avg Payrate Pay Rate \$23.00 \$34.50	Hours 38.35 38.35 Hours 29.70 29.70	\$25.00 \$0.00 \$1,109.90 \$23.53 Tota \$709.42 \$0.00 \$0.00 \$709.42 \$18.50 Tota \$579.12 \$0.00 \$0.00 \$0.00 \$709.42 \$18.50 Tota \$579.12 \$0.00 \$0.

	Avg Payrate		\$23.63
Lemus, Alejandro	Pay Rate	Hours	Tota
OC - Kitchen Manager	\$26.00	46.33	\$1,204.70
	Total	46.33	\$1,204.70
Sales: \$0.00 Tips: \$0.00	Claimed Tips		\$35.00 \$0.00
прѕ. 30.00	Gratuity Grand Total		\$1,239.70
	Avg Payrate		\$26.76
Lopez, Alvaro	Day Bata	Цонго	Tota
OC - Cook	Pay Rate \$17.50	Hours 46.34	Tota \$811.00
	Total	46.34	\$811.00
Sales: \$0.00	Claimed Tips		\$0.00
Tips: \$0.00	Gratuity Grand Total		\$0.00 \$811.00
	Avg Payrate		\$17.50
Lopez, Angel			
lob Title OC - Dishwasher	Pay Rate \$17.00	Hours 58.93	Tota \$1,001.73
	Total	58.93	\$1,001.7
Sales: \$0.00	Claimed Tips		\$25.00
Tips: \$0.00	Gratuity Grand Total		\$0.00 \$1,026.73
	Avg Payrate		\$17.42
Machin, Lautaro			
ob Title OC - Busser	Pay Rate	Hours 22.84	Tota \$376.8
OC - Dussel	\$16.50 Total	22.84 22.84	\$376.8
Sales: \$0.00	Claimed Tips		\$0.00
Tips: \$0.00	Gratuity Grand Total		\$0.00
	Grand Total Avg Payrate		\$376.8 \$16.5
Marroquin Molin, Toma	•		
ob Title	Pay Rate	Hours	Tota
OC - Dishwasher	\$17.50 Total	59.86 59.86	\$1,047.5 \$1,047.5
Sales: \$0.00	Claimed Tips	33.00	\$40.0
Tips: \$0.00	Gratuity		\$0.0
	Grand Total		\$1,087.5
Marshall, Nathaniel	Avg Payrate		\$18.1
ob Title	Pay Rate	Hours	Tota
OC - Server	\$16.50	14.93	\$246.4
6.1. 42.202.40	Total	14.93	\$246.4
Sales: \$3,302.10 Tips: \$228.09	Claimed Tips Gratuity		\$440.0 \$399.2
ps.	Grand Total		\$1,313.7
	Avg Payrate		\$87.9
Martinez, Bertriz	Pay Rate	Hours	Tota
OC - Dishwasher	\$17.00	48.25	\$820.29
	Total	48.25	\$820.2
Sales: \$0.00 Tips: \$0.00	Claimed Tips Gratuity		\$95.0 \$0.0
11ps. \$0.00	Grand Total		\$915.2
	Avg Payrate		\$18.9
Martinez, Violeta	Day Pate	House	Tota
OC - Utility	Pay Rate \$17.00	Hours 42.47	Tota \$721.9
<u>'</u>	Total	42.47	\$721.9
Sales: \$0.00	Claimed Tips Gratuity		\$0.0 \$0.0
Tips: \$0.00	Grand Total		\$721.9
	Avg Payrate		\$17.0
McCollum, Kiva			
ob Title OC - General Manager	Pay Rate \$22.00	Hours 65.29	Tota \$1,436.3
•	Total	65.29	\$1,436.3
Sales: \$10,294.93	Claimed Tips		\$880.0
Tips: \$785.73	Gratuity Grand Total		\$948.4 \$4,050.4
	Avg Payrate		\$62.0
Nemo, Joey			
ob Title	Pay Rate	Hours	Tota
OC - General Manager	\$22.00 Total	57.71 57.71	\$1,269.5 \$1,269.5
Sales: \$5,391.69	Claimed Tips		\$628.0
Tips: \$847.49	Gratuity		\$154.0
	Grand Total		\$2,899.1 \$50.2
	AVØ PAVRATE		, , , , , , , , , , , , , , , , , , ,
	Avg Payrate		
Nunez, Andres	Pay Rate	Hours	
Nunez, Andres	Pay Rate \$17.50	5.50	\$96.3
Nunez, Andres ob Title OC - Cook	Pay Rate \$17.50 Total		\$96.3 \$96.3
Nunez, Andres	Pay Rate \$17.50	5.50	\$96.3 \$96.3 \$0.0 \$0.0
Nunez, Andres lob Title OC - Cook Sales: \$0.00	Pay Rate \$17.50 Total Claimed Tips Gratuity Grand Total	5.50	\$96.3 \$96.3 \$0.0 \$0.0 \$96.3
Nunez, Andres lob Title OC - Cook Sales: \$0.00 Tips: \$0.00	Pay Rate \$17.50 Total Claimed Tips Gratuity	5.50	\$96.3 \$96.3 \$0.0 \$0.0 \$96.3
Nunez, Andres Job Title OC - Cook Sales: \$0.00 Tips: \$0.00 Oakden, Kelly	Pay Rate \$17.50 Total Claimed Tips Gratuity Grand Total Avg Payrate	5.50 5.50	\$96.3 \$96.3 \$0.0 \$0.0 \$96.3 \$17.5
Nunez, Andres Job Title OC - Cook Sales: \$0.00	Pay Rate \$17.50 Total Claimed Tips Gratuity Grand Total	5.50	\$96.3 \$96.3 \$0.0 \$0.0 \$96.3 \$17.5
Nunez, Andres Job Title OC - Cook Sales: \$0.00 Tips: \$0.00 Oakden, Kelly Job Title	Pay Rate \$17.50 Total Claimed Tips Gratuity Grand Total Avg Payrate Pay Rate	5.50 5.50 Hours	Tota \$96.3: \$96.3: \$0.00 \$0.01 \$96.3: \$17.50 Tota \$491.2: \$491.2: \$836.00

	Grand Tota Avg Payrat	\$3,088.28 \$103.72	
Oviedo, Federico		1	
Job Title OC - Busser	Pay Rate \$16.50	Hours 35.91	Total \$592.50
oc Busse.	Total	35.91	\$592.50
Sales: \$0.00	Claimed Tips		\$0.00
Tips: \$0.00	Gratuity Grand Total		\$0.00 \$592.50
	Avg Payrate		\$16.50
Perez, Natalia	Pay Rate	Hours	Total
OC - Cook	\$18.00	61.94	\$1,114.92
Sales: \$0.00	Total Claimed Tips	61.94	\$1,114.92 \$0.00
Tips: \$0.00	Gratuity		\$0.00
	Grand Total Avg Payrate		\$1,114.92 \$18.00
Petkova, Veni	Avgruyiuce		\$10.00
lob Title	Pay Rate	Hours	Total
OC - Server	\$16.50 Total	14.51 14.51	\$239.43 \$239.43
Sales: \$2,789.55	Claimed Tips	14.51	\$295.83
Tips: \$211.59	Gratuity		\$199.11
	Grand Total Avg Payrate		\$945.96 \$65.19
Platero, Mario	7118 1 471410		¥00.120
Job Title	Pay Rate	Hours	Total
OC - Cook	\$21.00 Total	42.81 42.81	\$899.06 \$899.06
Sales: \$0.00	Claimed Tips	01	\$30.00
Tips: \$0.00	Gratuity		\$0.00
	Grand Total Avg Payrate		\$929.06 \$21.70
Regina, Adriana			
Job Title	Pay Rate	Hours	Total
OC - Busser	\$16.00 Total	17.62 17.62	\$281.89 \$281.89
Sales: \$0.00	Claimed Tips		\$0.00
Tips: \$0.00	Gratuity		\$0.00
	Grand Total Avg Payrate		\$281.89 \$16.00
Rennison, Amy			
Job Title	Pay Rat		Total
OC - Floor Manager	\$16.5 Tot a		\$739.21 \$739.21
Sales: \$13,593.50	Claimed Tip		\$1,570.00
Tips: \$1,014.39	Gratuit		\$1,165.90
	Grand Tota Avg Payrat		\$4,489.50 \$100.21
Reyes, Oscar			·
Job Title	Pay Rate	Hours	Total
OC - Busser	\$16.50 Total	6.99 6.99	\$115.35 \$115.35
Sales: \$0.00	Claimed Tips	0.00	\$0.00
Tips: \$0.00	Gratuity		\$0.00
	Grand Total Avg Payrate		\$115.35 \$16.50
Rivera, Alfredo			
Job Title	Pay Rate	Hours	Total
OC - Cook	\$19.00 Total	64.42 64.42	\$1,223.96 \$1,223.96
Sales: \$0.00	Claimed Tips		\$60.00
Tips: \$0.00	Gratuity Grand Total		\$0.00 \$1,283.96
	Avg Payrate		\$1,283.96
Roach, Erica			
Job Title	Pay Rat		Total
OC - Floor Manager	\$16.5 Tot a		\$740.89 \$740.89
Sales: \$7,811.27	Claimed Tip		\$475.00
Tips: \$1,013.15	Gratuit		\$201.61
	Grand Tota Avg Payrat		\$2,430.65 \$54.13
Rodriguez, Steve			
lob Title	Pay R		Total
OC - General Manager	\$31 To	.00 6.48 otal 6.48	\$200.75 \$200.75
Sales: \$1,489.28	Claimed T	ips	\$37.00
Tips: \$221.52	Gratu Grand To		\$0.00 \$459.27
	Avg Payr		\$70.92
Rubattino, Alejandra			
Job Title OC - Busser	Pay Rate \$16.50	Hours 33.61	Total \$554.55
OC - Busser	\$16.50 Total	33.61 33.61	\$554.55
Sales: \$0.00	Claimed Tips	=	\$0.00
Tips: \$0.00	Gratuity Grand Total		\$0.00
	Grand Total Avg Payrate		\$554.55 \$16.50
Salter, David			
	Pay Rate	Hours	Total
OC - Utility	\$28.00 Total	20.13 20.13	\$563.69 \$563.69
Sales: \$0.00	Claimed Tips	20.13	\$0.00

	Avg Payrate		\$16.50
	Grand Total		\$513.79
Tips: \$0.00	Gratuity		\$0.00
Sales: \$0.00	Total Claimed Tips	31.14	\$513.79 \$0.00
OC - Busser	\$16.50	31.14	\$513.79
Zoela, Paula Job Title	Pay Rate	Hours	Total
Zoolo Doule	Avg Payrate		\$17.00
11631 40100	Grand Total		\$851.79
Sales: \$0.00 Tips: \$0.00	Claimed Tips Gratuity		\$25.00 \$0.00
	Total	50.11 50.11	\$826.79 \$826.79
Job Title OC - Host	Pay Rate \$16.50	Hours 50.11	Total
Wright, Arlene			,32.20
	Grand Total Avg Payrate		\$2,213.94 \$52.16
Tips: \$620.23	Gratuity		\$225.31
Sales: \$5,717.40	Total Claimed Tips	42.45	\$700.40 \$668.00
OC - Server	\$16.50	42.45	\$700.40
Job Title	Pay Rate	Hours	Total
Vanderpol, Emily	Avg Payrate		\$26.00
	Grand Total		\$769.38
Tips: \$0.00	Gratuity		\$0.00
Sales: \$0.00	Total Claimed Tips	29.59	\$769.38 \$0.00
OC - Cook	\$26.00	29.59	\$769.38
Torres Leon, Jose Job Title	Pay Rate	Hours	Total
	Avg Payrate		\$20.01
Tips: \$0.00	Gratuity Grand Total		\$660.75
Sales: \$0.00	Claimed Tips		\$50.00 \$0.00
	\$18.50 Total	33.01 33.01	\$610.75 \$610.75
Job Title OC - Cook	Pay Rate	Hours 33.01	Total
Toro Zepada, Arturo	<u> </u>		
	Grand Total Avg Payrate		\$2,375.45 \$49.37
Tips: \$816.84	Gratuity		\$198.63
Sales: \$6,601.33	Claimed Tips	46.12	\$793.98 \$566.00
OC - Floor Manager	\$16.50 Total	48.12 48.12	\$793.98
Tee, Lauren Job Title	Pay Rate	Hours	Total
Tee Lauren	Avg Payrate		\$17.48
	Grand Total		\$266.42 \$17.48
Tips: \$0.00	Gratuity		\$0.00
Sales: \$0.00	Total Claimed Tips	15.24	\$251.42 \$15.00
OC - Host	\$16.50	15.24	\$251.42
Swaby, Jeovanna Job Title	Pay Rate	Hours	Total
Swahu Jaawana	Avg Payrate		\$16.50
	Grand Total		\$558.83
Sales: \$0.00 Tips: \$0.00	Claimed Tips Gratuity		\$0.00 \$0.00
	Total	33.87	\$558.83
Job Title OC - Busser	Pay Rate \$16.50	Hours 33.87	Total \$558.83
Suarez, Matias	D D	Haves	-
	Avg Payrate		\$95.65
Tips: \$2,180.68	Gratuity Grand Total		\$431.80 \$5,236.86
Sales: \$15,235.64	Claimed Tips		\$1,721.00
OC - Floor Manager	\$16.50 Total	54.75 54.75	\$903.38 \$903.38
Job Title	Pay Rate	Hours	Total
Stein, Jason	Avg Payrate		\$16.50
	Grand Total		\$245.00
Tips: \$0.00	Gratuity		\$0.00
Sales: \$0.00	Total Claimed Tips	14.85	\$245.00 \$0.00
OC - Host	\$16.50	14.85	\$245.00
Simoes, Gabriella Job Title	Pay Rate	Hours	Total
	Avg Payrate		\$17.50
Tips: \$0.00	Gratuity Grand Total		\$0.00 \$828.09
Sales: \$0.00	Claimed Tips		\$0.00
OC - COOK	Total	47.32 47.32	\$828.09
Job Title OC - Cook	Pay Rate \$17.50	Hours	Total \$828.09
Sanchez, Pablo			
	Grand Total Avg Payrate		\$563.69 \$28.00
Tips: \$0.00	Gratuity		\$0.00

 Job Code
 Total Hours
 Regular Hours
 OT Hours
 Total Pay
 Regular Pay
 OT Pay

 OC - Busser
 295.00
 295.00
 0.00
 \$4,858.73
 \$4,858.73
 \$0.00

 OC - Server
 199.15
 199.15
 0.00
 \$3,285.93
 \$3,285.93
 \$0.00

 OC - Floor Manager
 344.85
 344.85
 0.00
 \$5,690.05
 \$5,690.05
 \$0.00

OC - Host	195.25	195.25	0.00	\$3,221.66	\$3,221.66	\$0.00
OC - Cook	631.50	630.93	0.57	\$12,605.58	\$12,585.81	\$19.77
OC - Dishwasher	240.24	240.24	0.00	\$4,113.95	\$4,113.95	\$0.00
OC - Utility	70.69	70.69	0.00	\$1,466.86	\$1,466.86	\$0.00
OC - Kitchen Manager	46.33	46.33	0.00	\$1,204.70	\$1,204.70	\$0.00
OC - General Manager	129.47	129.47	0.00	\$2,906.62	\$2,906.62	\$0.00
TOTALS	2.152.49	2.151.92	0.57	\$39.354.09	\$39.334.32	\$19.77